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QUESTION 1

Which of the following statements is true? 

A. The overuse of service agents can lead to dependencies on proprietary vendor platforms. 

B. The use of service agents is limited to the service architecture. 

C. Service agents are common in orchestration environments but not within enterprise service bus environments. 

D. None of these statements are true. 

Correct Answer: A 

 

QUESTION 2

The messaging framework established by the application of the Event-Driven Messaging pattern positions a(n) as being
responsible for the broadcast of event notification messages. 

A. event management program 

B. synchronous queue 

C. event-driven Web service 

D. database 

Correct Answer: A 

 

QUESTION 3

An atomic service transaction requires that: 

A. alternative compensating logic is executed to undo changes that may have been committed by the services
participating in a transaction 

B. a service participating in a transaction either commit or rollback changes in response to the success or failure of the
transaction 

C. services be designed to be aware of all the other services that have also registered as participants in the same
transaction in order to exchange success or failure messages with them 

D. None of the above. 

Correct Answer: B 

 

QUESTION 4

Two services need to exchange a business document that exists as an XML document. Each service\\'s contract uses a
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different XML schema to represent the business document structure. This results in two different XML representations
for the same business data. Which of the following patterns can be used to enable the exchange of the business
document between these two services? 

A. Data Format Transformation 

B. Protocol Bridging 

C. Atomic Service Transaction 

D. Data Model Transformation 

Correct Answer: D 

 

QUESTION 5

In order to realize the failover support provided by the application of the Redundant Implementation pattern, the
Intermediate Routing pattern also needs to be applied so that services can be load balanced. 

A. True 

B. False 

Correct Answer: B 
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